FrAIEY LU0FERY - FHHAETES

AT EE 2021.08. 04 i3 %

1. #e% R 2 i (17-30)

1.9 f £ 2(31 T = 1:00-4:00)

(2.3 WY MEHEL B FEALBIA 2 pprif
(3). L ¥t E
(4).5~8 &1 55+ 3%

2. % ¥ ¢ BRI (1-3)

EHALE T

S

L9 2l % 274 BAT3 € (e & R (EF734 ¢ 7412)
2. A FETEREL (1) 3 5 (R)- ~ - FREAFR
Pe(l) d@ddFrxriktx2() 5. 4B 2 2 %D
6. BB KT HO V) LB ELEF T H?IL%B (D
B.FT€(3) 9.4 # = 2 HMM £ (318:30) 10. & = & 51
Rk (4) 1022 2P £ R & 11.%;%;‘%%:& 2 12
Ik E 1308 % 2R T T X (8/30-9/4) 14, = £
RFE-%3F v F(8/30-9/4) 15, 54 B doid *

1. @R €& (8 %+ 8:00) 2. 8 ¢ :magpAesmF EL |
1IN #5 de s 2 %8402 (10) 4.3 = F Rl % - = g

5.4 3%(11)4 9/20

TOER

(10 ~ 11) §(7-

e TR L

L4Fa m#(9) 2.110 #pin B2 BH i FRIEIED
JEIR10-8/F- ) 3 HrLaRE AR L H(10) 4
A ALBE R(9/12)

|
I

12

15

16

17

18I1. "R EA(13) 2.7 #Ead (18, 19. 20. 21)

Lz g Fema(15) 2. Wi L % - =i (15) 3.
ik B dp $ 8 £ ¢ R(17) 4.5 ¢ (1T)

L;zsw%&éw%(zm 2. BT P E

o5l £ 2 ¢ % (22) £(24) 4% WP [ FEALR EHMEE E0E(25)5. S
*—ﬁi%frg’ﬂ:wmﬁg(3 18:30)6. % - &+ & € (25)
LRgapes 2 M5 PN 7002 . 452 5
1. £33 B 45027) EreEp (D)4 ARI) L B BEMKT 2 B
wr ¥ A0 ")
Ml #2ERBEREZWB) 2.3H=%- %" F(7.8) ;'(8&)%” SRTERIOIRREAELRL D N

L¥%-=ZH&xFpaed(13) 2. % - L5 (13~

14> 16:05 %)

L3Rz 2 &4

1.3 = %pl % - =
#(22)

TR (20~ 21) 2.7 R ) Y R

G Y R

(13~15) 2. % W- = 4-® 3(15)
BT

4 EFQ21-22) 2. 3 =AM 3(22) M- »3Lg %%
(535 3 15 4R §RED

24 26

28

29

3C1. - = iv%4 5 (28)

.= RTMEY AR p" AL E(28) 2. i‘i/?’?ﬁ%(%)ﬁl“
3.4 8% 1.88 3.3° 31628 - »FLgEe (¥ 3
&)

+— o L4185 S5 2 50 (D) 2408 § #2516 R(3) 34
L ﬁ B = sl s = - Rl N Ei)‘sz‘fl—‘k/—é’ﬁv Ub_ (3)444@ 4(5)5 gv{‘i*ﬁ-
& 2 3 4 5 Gl =5R %=y (1-2) EE ¢ ( )6.—1LIL,§;;#:EI,%*,§*=K}2TF;/F o (1]
31 1 ')
L akse FLaEd e 2. M- -~ 4 HPV o i
L - 718 9| 10| 11| 12| 13 . kEEFEEA Y (%) 3. 2d % 2%T2HP(9) 4110-1 F #3523
AR gk, (10) 5 w10 12)
_ . §mbpics » Fy $(8:10~9:00> & = )(17) 2. ¥ v
+-| 14| 15/ 16| 17/ 18 19 20 S 40 g (10)
L=| 21| 22| 23| 24/ 25| 26| 27 gég;,ﬂ@mmﬁ(@@ 2.% ¢ FNET A < AT RY FRFL
1% - = f%r?hf' S A(29) 2.8 (F)- ~- 2 = §- S - ng?éfjﬂ)&iﬂiﬁ—ﬂ(l) 2.5 (3) 3. v ipild i
FZHE(30-1) 4:05 %% =
LAz SRt Ba6) 2.8 =43 t8268) 337 maslllrasruvedn (7) 2. 4 iE#(9) 3. EiF Y mF
£ (10) 4. ®Esf i plsk 5 % 2 @ (10)
1.%; Z (16 7= 1-32) 2. % = % v = W (14~ 15) 3.
Brzap S o ET (415 4 5o ivEip a2 B il ne (D2 Fak § FrEL R € 4UD
kil §(16)5 - B -HES #¢U6)
13° mamEELh ¢(23) 1. B AT 54 5 85 (23 T = 5 24)
e A . e wa o MLrno-r B e e TR TR £, (29) 2 R KT
LAY e #¢e(28)2. 8- ¢4 (30 W ~% 8- #1i)3. gwﬁwﬁ;w@(gnsrﬁé‘f*% Er *%%?E‘(l)4.

(3.1, 2)

EEMEFE:2 Loz E2AY)

LEG)BEE &2 EG)B 2+ 5(T)

L1 & 29 @4 FER 22X 2HT 2
%%\’iﬁ (7) 4.3 Iﬁliﬂns\% it

LR EHED S (13)

LBk FToisdh &
?“*— % (14) 3.4-® 6 (14)

L&+ (18~19-4:05*%F ~20X=2)2 %=

(20 T=) 6. ®IFHFH 2 H
FLa 4 Rl (22 ~ 23)

. SRR SRt
Wie & (18) 3. ¥ 34(20) 4. ¥ & +aix ¢ &R (20 & = )5, W F i 77 ¢
THEEQO) I FERAES

L x=#FE -~ RENQO2.H AR
(ZO—ﬁﬂéﬁF;% ek 3. A Ak
28 2% (21)

2001, ¥ B - (1/21~1/27) 2.4 4 (26) 3. % = = 535 (26)

lLa#378 WL dpf o 84)

L¥-59prgdD

1.3 = %P % = s (17~ 18)

SRS £ s

Bl Lo B A0

%0 AEEHT A

P

o

4 7 (http://www.tksh.ntpc.edu.tw) ™ §* -




